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WEST BENGAL~E UNIVERSITYr,~
B.A. Honours 3rd Semester Examination, 2023-24 ~~std.-1947 3

SANACOR07T -SANSKRIT(CC7) ~ ~o/
Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks,
Candidates should answer in their own words and adhere to the word limit as practicable.

C1i-~:

1. 31V1~Rgd~~~~fi*1>d'1 ~cHlllx~~1 'tI"<.>1~i5I~'tttfc)x'a1d1ttl

(Cf» ~lil\l1~q~: ~~ ~ \3r("1,~4 wf~llf::t'fLI fcn C11<tQ4tt?

~) Fchli~ iSJi~~q'fLI~~~C1GI~'a1~1

3ft!fCfT

5xl = 5

~~Rgd~ ~ l1iI'Ctp4q;: fi*1>d'1 ~q'1111'<~~1 'tI"~: I

(cp) 9)'<IOI'"llI~4)lii~1~~lIf::t I)\j"f?if.Wrr: I

~:~fcRrAi~'tI"~~11

(&) ~: ~GTfr~ ~n:qf?lPs:~Pt!H5: I

~~,~lim1m~~~11

5xl = 5

2. 3ll:T: ~>f~~tp:i[>fm: ~~q~lll'<~~1 'tI"~: I

(CP) em ~ ~ ? fcn <'flCR( ~ ?

~ em~ar: ?em"t4"m?

(TT) 9)'<IOI'fLI~~uTTf.nm~?

(tT) f?Rrr~~ fc),<Rml?

(~ ~,<:qIIlC11 cp:? ~!F~cpfcfqqffUr~?

('tI") 1l1$1q(Y~~~ fcn ~&fUTl=(?

~) ~RCf)~~;:fRt~ 3lftICf)I~oft 31Rftq;rqr?

2x5 = 10

"«-~:
3. ~'Ctp4q;: >f~: fi*1>d~ ~q~111'<~~1 'tI"~: I

(Cf)") ?gl~<{)~9),(,)~xiihom lftC1llil~

~~:~:I

~ fifCfil'<: Cf)~fc)'f:T:? ~~fcr~ 3l1('t11'a1C1lttI

lOxl = 10
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4. ~fl.,fl<.'"81~~4cj)lT~-cEP}Cf7+4X"it<pd'1~cF1Ill,<fC;jQjI:q c£lllts<licm<:IT I

("en) \J11\~\Cf)t:ff ~~: ~q:yqqsfqerr I

~Cf>4uTt~ q4qv'tlltlx)'tIx~ II'" ....

5xl = 5

(~ 3lrgfllfl\£I~¢~m crR1G1£11j4I <.'1;'p"!.I

'l1'<Ut 9)~GIxlOIi ~nil~~~6 \[Cf:q II

~

3fthfC;jRg(9) lT~~~ I

('Cf)) W: (~~ (If) llt~: (Er) 3TT-w:r:

5xl = 5

5. 10xi = 10

('Cf)) 1tRlX"iffidl~q<1kl/ ~~iflIFcl~~ ~~:I

(~ ~jX"iffidl~l~xm: \3<'lqR1Fcl~~~~~: I

6. ~f§d'4+4 X"iffd'1 ~q'1JllxfC;jQjI:q~~ I

(Cn) ~ ~) Q: (If) fl,£Il!lfj: (Er) fl~lqd'19..

5x2 = 10

~

31tr: ~ ~ ~ 1Pi ~fl{l~<.'"81~'i4¢ X"i+<pd'1~Cj'1JlI,,!fC;jQjI:q &q1{.c:il~9..1

('Cf)) ~ ~ t:rm ~~~ I

~~CI"fl'fum~4dw~m tg~: II

~ ~sfiT'1lq~'"(1an ~~~: I

lf6(ft ~ ~ '1"!'{i)qol mfc; II

(If) ~ 1f%R-~qlfftt <:TG<T ~1<j~"''1x:1

Cf>lluTT11%'i401~"1 err:rr: II

5x2 = 10
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